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]ntrocluction to yuxan — vy 11e

This chapter continues to define nx¥1n »1Y>w and, from there, uses k¥ as a vehicle for defining some
general principles affecting naw marYn, specifically vis-a-vis 2vn. Issues of intent, joint action and core vs.
periphery in the context of naw naxr5n are explored here.

2.10.1
90b (» mwp) 2 91b (77502 *5102)

L x mwn:if someone is y’1¥n anything for planting, as a sample or for medicinal uses
a. And then: carries it out on naw, then he is liable for naw %%n no matter how small the object
b. However: for anyone else, only liable if he carried out per the minimum 7w as defined above

i. Note: our mwn is not in accord with X”"2v7: one’s nyixn grants significance to object for others
c.  If he: brought it back in, he would only be liable if it was 7»w2

i. Challenge: this is obvious

ii. Defense (7228): case where its place in the shed is still marked — 8”70 it maintains its original

significance — 5"np that once he throws it in, he has nullified its importance
II.  Analysis of rhetoric of mwn —use of "ynxnn”
a.  Should have used: ®wx1nn (once he takes it out, that indicates that he considers it significant)
b.  Answer (728): case where he was »13n, then forgot why and carried it out
i. Errant conclusion: his forgetting cancelled out the significance of his original nyixn
ii. Therefore: it teaches that actions follow original intent
II. HR1nWw: n"y would find liable someone who took out even one seed
a. Challenge: that is obvious — the mwn rules that X1nw 93 is sufficient
i. Defense: we might have thought that 10w 93 just meant “less than nan 2" — but at least nora — H"np
b.  Challenge (to impact of intent): if he decided to move all of his household belongings — he wouldn’t be
271 until he took it all out!
i Answer: in that case, his ny7 is negated relative to everyone else’s (DR %3 Y2R YT NY01)
IV. ynm "v’s ruling and ®17’s follow-up (embedded) questions
a. 277 if he took out 1 nanm for purposes of planting and then decided to eat it (or vice-versa) — 27n

i. Reasoning: in either case, he has the proper 11w (had he not changed his mind, still would be 2»n)
ii. Justification: we might have thought that n1py and nmn have to have consistent intent — 5"np
b.  xa7 if he took out ¥2 n i for sowing and it expanded to N7 and then he decided to eat it — 2n?
i Lemmal: unlike above, there wasn’t a full n9a85 1w when he did nvpy
ii. Lemma?2: had he said nothing, he would have a full ny» 15 v -a7n
iii. ~27 if we accept that reasoning, what if he took out N3 for eating, shrunk and changed mind to sow?

1. Lemmal: here, had he not changed his mind, wouldn’t be 27n (as there is no longer n>ax MyYV)
2. Lemma2: we follow the current myw — which is enough for ny»r
3. n17 if we accept that reasoning (19918 Xnwn In1); if it shrunk then re-expanded to naa115?
a. Lemmal: there is "n>7 in the naw »1»>w and he is Moa
b. Lemma2: there is no "nT — and since there was 1y at both n1’py and nmn, he is 27n —p'n
V. R27's question of yam 1 — if he threw a n>t> of "mAn into a house that is XnY — what is the ruling?
a. 171 for what end - for naw or for nrnV?
i. If: for naw, we require a N1 M3 (bigger than no1); if for Nk, we need nN¥»13 for PY2IR NRMY (much bigger)
ii. clarification: question re: naw — case where there is less than n¥»1> (already in house) and this n>ra completes nx»1>
1. Question: since this n’13 merges with rest to make nx»15 (>nxrMv Yapn), is it also 23wn for naw (>17n)?
a. Or:do we always require a full N3 to be carried for naw ayn?
2. Answer (279): per 2Rw RaR, minimal amount of 0’190 DNY TNYN MY is NI
a.  Even though: for Rxy 171, a 113 is sufficient, should be sufficient for naw (since it isn’t->&17’s case is 1104)
b.  Block: in that case, he violates 8¢ when leaving naty (n'91n13); only 2»n for naw when he gets to 1"
i. But: in our case, naw and nkmv come together (when food enters house) >might be 2rn

www.dafyomivicc.org 83 © Yitzchak Etshalom 2012




